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.39-21=

.67 +11+38 =

.8+9+10+11+12 =

.2X2X%x3=

46+ 125 =

15%x3 =

42 +7 =

. Round 3847 to the nearest tens place.

14+17-12=

899 +403 + 701 =

36 x11 =

1000 - 271 =

How many even whole numbers are there between 31
and 557

817 + 3 has a remainder of

50x 44 =

T7x1000+3%x10+8x%x 1=

1+2+3+4+...+11=

How many quarters are there in two dollars?

XXI + XI = (Arabic numerals)

198 x 402 =

176 + 4 =
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40.

41.

30+12%x2 =

3 feet = inches

28x22 =
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The GCD of 48 and 40 is

(decimal)

ooln
Il

The largest prime number less than 40 is

15013 +332 =

1.25 meters = centimeters

75 %85 =

5x3-2x7=

If 3 flowers cost $2.11, then 1 dozen flowers cost

$

57-325= (decimal)
2 gallons = pints
30% = (fraction)

738 + 815 + 162 + 285 =

Three-fourths of 20 is

752 x 804 =

What is the diameter of a circle whose radius is 18
cm? cm
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42. 31 +21 = (mixed number)

43. 75%x24 =

44. 172 =

45. The LCM of 8, 10, and 12 is

46. The area of a rectangle whose length is 8 cm and

width is 5 cm is cm?
47. 3119 = 8
48. 96 X 93 =

49. Four balls cost a total of $25.96. Each ball costs
$

*50. 5.5%x65%x75=

51. If n=5,then7n -4 =

52. 101 x72 =

53. The next term in the sequence 2, 4, 8, 16, 32, ... is

54. V144 =

55. What is the hypotenuse of a right triangle whose legs
measure 5 and 127

= (mixed number)

56. 61 x6

Al

57. 50% of 162 is

58. 3+6+9+ 12+ ...+27 =

59. How many subsets does {a, b, c, d} have?

* 60. V814732 =
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78.

79.

* 80.

1 —
.43 x231 =

14 -20 =

The additive inverse of —4.5 is

How many sides does an octagon have?

107 x 104 =

3% =

Find the perimeter of a square whose area is 49 in2.
in

If 3x = 12, then x =

111 x39 =

152 — 142 =

What is the area of a parallelogram with base 12 and
height 6?

What is the probability of flipping a coin twice and
getting 2 heads?

15x24 =

How many positive integers evenly divide into 20?

75% of 36 is 25% of

(=2)(=3)(-6) =
The angles of a triangle are 20°, 70°, and
How far is —4 from —12 on a number line?

T7-28+(-7)=

1428 x 21 =




